| N of associated (recoToSim) looper tracks vs dxy |

[\ of associated (recoToSim) tracks vs dxy |

N of reco track vs dxy

n o
= L=
£ £
Jo o S
S =
> o N
[ToRe= N T
1= Xx
% g
o M ©
— N o =
= S =1
EY [To) -
H
8
o £ )
2
I [To) 8
[ 8
= o
o £ —
S % |
! 2
) S
-1 2 o
1 £ IN]
o 2 1
4N m
! s
) H o
N ¢ ]
1 8 [
s = 3
o _ o
9 L=
£ £
Jo L S
30 A
> o N
Jo X b =]
— © x
% g
o
B I T R T P S - CFEP I by [ S o &
s —
-
={o
I [To)
1
o
1T
)
1
I .
R :
0 1
N L
! [=} S 2 ]
S < = 3 S
Syoel) e} oney
n o
Q= L=
£ ] £
Hde <
> o N
I T N O
— © X
S 3
....... Jo M ©
— © N o S
s |8 =1
B [To) H
o
2
o S )
....... o E|
[ 5 o
o
= s |
| 3
Lo 2
I =5 < o
| 2 IN]
o E 1
AR g
. ! ]

s s oy byd S 9 2 11
S =) Rl W7 oy i 5P
= - oS S 2 3

==
FOO| J
i
>3
POO|
Vatal
ol o
= £ °E
....... e o
> N
2 Lo
o B 2
% g
128 g

10

0

-10

-20

0

r)

o
—

syoen

2
3

oney

<
o
—

05 =50-15-10 -5 0 5 10 15 20 25

N of reco track vs dz

<
o
—

syoen

5
=3



	Contents
	Page 1


